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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering – SEMESTER – 2 (NEW) – EXAMINATION – Winter-2022 

 

Subject Code: 4300008 Date: 27-02-2023  

Subject Name: Engineering Mechanics 

Time: 10:30 AM TO 01:00 PM Total Marks: 70  
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of non-programmable scientific calculator is permitted. 

6. English version is authentic. 

 

Q.1 (a) Define Engineering Mechanics and Give the names of Fundamental Principles  

of Mechanics.              03 

એન્જિન્િયર િંગ ન્િકેન્િક્સ વ્યાખ્યાન્યત ક ો અિ ેન્િકેન્િક્સિા િૂળભૂત ન્સદ્ાિંતોિા  

િાિ આપો. 

(b) Differentiate between Mass and Weight.          04 

 દળ અિે વિિ વચ્ચેિો તફાવત આપો. 
(c) State and explain Parallelogram Law of Forces.         07 

 સિાિંત બાિુ ચતુષ્કોણ િો ન્િયિ લખો અિ ેસિજાવો. 
      OR 

(c) If two forces act at an angle of 90°, resultant is √10. If they act an angle of 60°, 

resultant is √13. Find the two forces.          07 

 િો બે બળો 90°િા ખૂણા પ  કાયય ક ે છે, તો પર ણાિ √10 છે. િો તેઓ 60°િા  

ખૂણા પ  કાયય ક ે છે, તો પર ણાિ √13 છે. બે બળો શો્ો. 
Q.2 (a) Explain types of Equilibrium.            03 

સિતોલિ િા પ્રકા  સિજાવો. 
(b) State and explain Lami’s Theorem.           04 

 લાિીિુિં પ્રિેય લખો અિ ેસિજાવો. 
(c) Three forces 1 kN, 2kN & 3kN are acting clockwise on equilateral triangle inline 

 of triangle side. Calculate resultant, its direction and will fall in which quadrant.     07 

1 kN, 2kN અિે 3kN િા ત્રણ બળો અિુક્રિે એક સિબાિુ ન્ત્રકોણિી બાિુઓ પ   

વતુયળાકા ે ઘરિયાળિા કાિંટાિી રદશાિાિં લાગે છે. આ બળોિા પર િંણાિી બળિી રદશા, પર િાણ અિે ક્યા 

ચ ણિાિં પિેલ છે. 

 

      OR 

(a) State Varigon’s principle of moments.          03 

વે ીગ્િિિો બળ્ૂણય િો ન્સદ્ાિંત સિજાવો. 
(b) Explain different types of beams.           04 

 િુદા િુદા પ્રકા િા બીિ સિજાવો. 
(c) Find reactions offered by supports of beam loaded as shown in Figure (1).      07 

 આકૃન્ત (1) િાિં દશાયવેલ બીિ િાટે સપોટય  ીએક્શિ શો્ો. 
Q.3 (a) Define following terms: (i) Centroid (ii) Centre of Gravity (iii) Axis of symmetry.     03 

િીચેિા પદો વ્યાખ્યાન્યત ક ો: (i) સેજરોઇિ (ii) ગુરુત્વકેજર (iii) સિન્િન્ત ્ ી. 
(b) Two forces 20 kN and 30 kN both tensile are acting at an angle 60°. Find  

  magnitude and direction of the resultant force.         04 

બે બળો 20 kN અિે 30 kN બિંિે તાણબળો 60°િા ખૂણા પ  લાગે છે.  

પર ણાિી બળિી તીવ્રતા અિે રદશા શો્ો. 
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(c) Find the Centroid of the area as shown in Figure (2).            07 

આકૃન્ત (2) િાિં બતાવ્યા પ્રિાણે ન્વસ્તા િા સેજરોઇિ શો્ો. 
 

      OR 

(a) Explain Axis of Reference.            03 

અિુસિં્ાિ અક્ષ સિજાવો. 
(b) Draw Axis of Symmetry for the following section: (i) L-section (ii) I-section.     04 

 િીચેિા સેક્શિ િાટે સિન્િતી અક્ષ દો ો: (i) L-સેક્શિ (ii) I-સેક્શિ. 
(c) A body of 10 kN is suspended by two strings of length of 50 cm and 120 cm  

attached to two hooks in horizontal ceilings 130 cm apart as shown in Figure (3).  

Find the tension in both strings.               07 

આકૃન્ત (3) િાિં બતાવ્યા પ્રિાણે આિી છતિાિં 130 સે.િી.િા અિંત  ેલગાિેલ બે  

હુક્સિાિંથી  50 સેિી અિે 120 સેિી લાિંબી દો ીઓ વિ ે10 kN િો ભા  લટકાવેલ  

છે, તો બિંિે દો ીઓિાિં ઉત્નજિ થતા તાણ શો્ો. 
Q.4 (a) Define following terms: (i) Angle of friction (ii) Coefficient of friction  

(iii) Angle of repose.                 03 

િીચેિા પદો વ્યાખ્યાન્યત ક ો: (i) ઘર્યણકોણ (ii) ઘર્યણાિંક (iii) ન્વશ્રાિકોણ. 
(b) State the advantages and disadvantages of friction.             04 

ઘર્યણિા ફાયદા અિે ગે ફાયદા િણાવો. 
(c) A block weighing 5 kN is lying on a rough plane inclined at 25° with horizontal. 

Angle of friction is 20°. Find minimum force required parallel to plane just to  

support to body.                     07 

સિન્ક્ષન્તિ સાથે 25° િો ખૂણો બિાવતી એક ખ બચિી સપાટી પ  5 kN િુિં  

વિિ પિેલ છે. િો ઘર્યણકોણ 20° હોય તો વિિિે સપાટી પ  ટેકવી  ાખવા  

િાટે, સપાટીિ ેસિાિંત  લગાિવુિં પિતુિં લઘુત્તિ બળ શો્ો. 
 

      OR 

(a) State any three laws of static friction.          03 

ન્સ્થત ઘર્યણિા કોઈપણ ત્રણ ન્િયિો િણાવો. 
(b) Prove that limiting angle of friction (Ø) is equal to the angle of repose (α), (Ø=α).     04 

 સાન્બત ક ો કે ઘર્યણિો િયાયરદત કોણ (Ø)=આ ાિિા કોણ (α),(Ø=α) સિાિ છે. 
(c) A ladder weighing 400 N is 10 m. Its end ‘A’ is resting on smooth vertical wall  

and lower end ‘B’ is resting on rough horizontal floor having coefficient of friction 

is 0.4. The ladder makes an angle 45° with horizontal. The ladder is about to slip  

when a man weighing 600 N standing at mid length of the ladder. Find reactions  

at supports A and B limiting friction at the floor.         07 

400 N વિિિી એક ન્િસ ણી િેિી લિંબાઈ 10 િીટ  છે. તેિો એક છેિો  'A' ઊભી ઘર્યણ ન્હત દીવાલ પ  

ટકેલો છે અિ ેબીિો છેિો 'B' ખ બચિા ભોંયતન્ળયા પ  છે. િેિો ઘર્યણાિંક 0.4 છે. આ ન્િસ ણી ભોંયતન્ળયા 

સાથે 45°િો ખૂણો બિાવે છે. જ્યા ે ન્િસ ણીિા િધ્યબબિંદુએ   600 N વિિ ્ ાવતો એક  િાણસ ઊભો હોય 

ત્યા ે  

ન્િસ ણી સ કવાિી તૈયા ીિાિં હોય તો છેિા A અિે B પ  ઉત્નજિ થતી  લિંબપ્રન્તરક્રયાઓ અિે ભોંયતન્ળય ે

ઉત્નજિ થતુિં સીિાિંત ઘર્યણબળ શો્ો. 
Q.5 (a) Draw line sketch of 1st system of pulleys.          03 

ગ ગિીિી 1લી ન્સસ્ટિિો લાઇિ સ્કેચ દો ો. 
(b) Explain Law of Machine.                04 

યિંત્રિો ન્િયિ સિજાવો. 
 (c) For a simple wheel and axle, diameter of axle is 20 cm and diameter of wheel  

  is 50 cm. Find an effort to lift load of 1000 N. Efficiency of machine is 80%.         07 

સાદા વ્હીલ અિ ેએક્સલ િાટે, એક્સલિો વ્યાસ 20 સેિી અિે વ્હીલિો વ્યાસ  

50 સેિી છે. 1000 N િો ભા  ઉપાિવાિો પ્રયાસ/બળ શો્ો. િશીિિી કાયયક્ષિતા 80% છે. 
      OR 
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(a) Define following terms: (i) Mechanical Advantage (ii) Velocity Ratio  

(iii) Efficiency.                 03 

િીચેિા પદો વ્યાખ્યાન્યત ક ો: (i) યાિંન્ત્રક લાભ (ii) વેગ ગુણોત્ત   

(iii) કાયયક્ષિતા. 
(b) Define Reversible machine and Non-reversible machine. And Prove that for reversible 

machine η > 50%.                  04 

પર વતી યિંત્ર અિે અપર વતી યિંત્ર િે વ્યાખ્યાન્યત ક ો. અિે સાન્બત ક ો કે  

ર વશીબલ િશીિ િાટે η > 50%. 
(c) In a wheel and differential axle, diameter of effort wheel is 30 cm, diameters of 

 large and smaller axles are 14 cm and 10 cm respectively. Calculate effort required  

to lift a load of 60 N, if efficiency at this load 80%.         07 

વ્હીલ અિે રિફ ન્જશયલ એક્ષલિાિં  પ્રયત્િ વ્હીલિો વ્યાસ 30 cm, િોટી અિે િાિી ્ ીિા વ્યાસ અિુક્રિે 14 

cm અિે 10 cm છે. િો કાયયદક્ષતા 80% હોય તો 60N  

વિિ ઊંચકવુિં કેટલુિં પ્રયત્િ બળ લગાિવુિં પિે તે ગણો. 
 

 

 

 

 
 

Figure (1) (Q.2 (C) – OR) 
 

 
 

Figure (2) Q.3 (C) 
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Figure (3) (Q.3 (C) – OR) 
 


